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000000000 O package com.skysoft.pcks.import
java.io.*.import java.net.*.import java.util.*.public class DataPacket {
InputStream is. OutputStream os. PacketHeader header. PacketBody
body. ArrayList al. public static final int DataSwapSize = 64532. /** *
OOO000000 * public DataPacket() { header = new
PacketHeader(). body = new PacketBody(). al = new ArrayList(). }
*000000000,000000000.*@param file
String O I OO OO */ public DataPacket(String file) { this(). try {is =
new FileInputStream(file). header.CalcHeaderInfo(is.available()).
this.madeBody(). is.close(). //this.Gereratedata(). } catch
(FileNotFoundException ex) { ex.printStackTrace(). } catch
(I0Exception ex1) { exl.printStackTrace(). }}/***0 U0 0 0 O O
JO0Oo,000000000.*@paramurl URL urldd O */



public DataPacket(URL url) { this(). try { //is = url.openStream().
URLConnection conn=url.openConnection().
Is=conn.getInputStream(). int total=conn.getContentLength().
header.CalcHeaderInfo(total). this.madeBody().
//System.out.printin(total ;" total). is.close(). } catch (IOException
ex) { ex.printStackTrace(). }}/**0 00000 d,d

[J PackageHeader D O OO O 0O,0000000 . * private
void madeBody() { al.clear(). byte[] buffer. DataEntry de. for (int1 =
0. 1try { ByteArrayOutputStream bos = new
ByteArrayOutputStream(). //is.skip(i *

body.BODY BUFFER _SIZE). header.ArrageSort(i). de = new
DataEntry(PacketBody.BODY_ BUFFER_SIZE). de.setSn(i).
de.setStreamsize(header.getStreamsize()).
de.setFragmentcounter(header.getFragmentcounter()). if
(header.isWTailFragment(i)) { buffer = new
byte[header.getMinfragment()]. is.read(buffer, 0, buffer.length).
header.setActByteSize(header.getMinfragment()).
de.setActByteSize(header.getMinfragment()). } else { buffer = new
byte[body.BODY BUFFER_SIZE]. is.read(buffer, 0, buffer.length).
} //System.out.printin("length------- "1"" body.getBody().length " "
header.getMinfragment()). body.setBody(buffer).
//System.out.printin("length:" 1" " header.toString()).
bos.write(header.getByte(), 0, header. HEADER_BUFFER_SIZE).
bos.write(body.getBody(), 0, body.getBody().length).
de.setBytes(bos.toByteArray()). al.add(de). } catch (IOException
ex) { ex.printStackTrace(). } }}/***0 000 0O0O,00000
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